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C.B. N° 4     - EQUATIONS DIFFERENTIELLES LINEAIRES -    Correction 
 

1- Résoudre sur ℝ  : '' ' 2 exy y y x+ − =  
 

( )x 2x 2 x 21
S y : ;y(x) Ae Be 3x 2x e / (A;B)

18
−   = → = + + − ∈ 

   
ℝ ℝ ℝ  

 
2- Résoudre sur ℝ  : '' siny y x x+ =  

 

( )2 21
S y : ;y(x) Asin(x) Bcos(x) xsin(x) x cos(x) / (A;B)

4

   = → = + + − ∈ 
   
ℝ ℝ ℝ  

 

3- Résoudre sur ℝ  : ( ) ( )
22 21 ' 2 1 1x y x x y+ + + =  

 

2

C Arc tan(x)
S y : ;y(x) / C

1 x

 +  = → = ∈ 
 +  
ℝ ℝ ℝ  

 

4- Résoudre le problème de Cauchy : 
( )1 ' 1

(1) 0

x xe y e y

y

 − + =
 =

 

*
x

x 1
S y : ;y(x)

e 1+

 −  = → = 
 −  
ℝ ℝ  
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( ) ( )x 21
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5
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3- Résoudre sur ℝ  : ( ) ( )
3

2 2 21 ' 1x y xy x+ − = +  
 

{ }2S y : ;y(x) (C x) 1 x / C= → = + + ∈ℝ ℝ ℝ  

 

4- Résoudre le problème de Cauchy : 
( )( ) ( )

2
1 ln ' 2ln 1

(e) 0

x x y x y

y

 + + =
 =

 

( )

( )( )
*

2

ln x 1
S y : ;y(x)

1 ln x
+

  −  = → = 
 +   

ℝ ℝ  


